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5 B A 5 i / R RS PR
1. /%A o v — Rk (A4 ) K 0o 77,686,799 0%
Z DAt > K 812,429 877,693 K 92. 6%
A R 97,485 97,485  f{# 100. 0%
2 . Flkl Flk % 0o / 56,485  f{i 0%
£ 55,669 56,097 A& 99. 2%
& « 2% 7 hH 4,881 / 4,935 A 98. 9%
Ty ANE K 0o / 99,824 it 0%
» T—7H 11,5689 11,660  {# 99. 4%
3. XRH Ly, X 0o 70,368 0%
DY 6,952 7,176 {& 96. 9%
{E1E &L 7,350 7,390 & 99. 5%
Z DAth, 122,471 122,471 M 100. 0%
HL 87 87 {# 100. 0%
4. F i o W 289 289 A 100. 0%
Z DA, 01 101 & 100. 0%
5. 1EEMR (ESilk 1,425 1,425 % 100. 0%
6.4/7)7 « FH H—T - A% 150 150 & 100. 0%
7 NEEHFR TEEH F48 2,997 2,997 M 100. 0%
8. ZOfthikHERY |7 —— N 16 16 & 100. 0%
55 5 / 5 f 100. 0%
Z DO R 221/ 224 B 98. 7%
9. OAF =S RS AT 47 1,393 1,416  #& 98. 4%
Eh 21, 401 21,401  {@ 100. 0%
H—hRrU v 7,911 8,028 @ 98. 5%
10. FERG WIJE « 7 L B 45 47 B 95. 7%
HOEKT I g 356 359 & 99. 1%
11. FRAAZR A WE (AOFEE) 7,102 7,112 K 99. 9%
BEKER DT 7 455 456 A 99. 9%
12. {H K% TH K #m 83 83 A 100. 0%
—JBe N FH EE 1/ 1 A 100. 0%
N\
13. @ éggggig%<) 35 35 & | 100.0%
E T C#H#i#s T/ T fE 100. 0%
ANHERZ A ¥ 937 937 A 100. 0%
14. # A Y HAE XA Y HEAE 28 K
15. H B #E i EEUER: 2 5
16. 3% { Hik R 1 %
17. f 5 A T HOHEE L ALER 7H A (H20. 6kg) /447> (H 205. 2kg) 10. 0%
18. JT & P T, EREN 277 100. 0%
W A\ < 5H 228,423,097 /267,607,336 85. 4%
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Sk T BT pTYs B O
. @%%%#6ﬁibtﬂ@i 4,956 m3
BERRELFLIFEEOKE L 898,533 m3
A BAEMBT 27 7 v MREW 101,748  t
TAZ TV MREEY Ty Y AWINT A7 7L MES 15,989 m?2
PR HAEME 184,146  t
UNES VN EikB%Z] 2,322 m?
= GRS N
(a7 V= FBIUMRMITa 27U — 364,250 t
BEEA VMBI | NE2ET,)
7 J)—h TIAT wvat A b
(a7 —FBXURMITa 27— 2,173 ¢
~EETe,)
. , BAEMEIZRW a7 ) — k2 RELE («
T 7V bR Y e e T 'S 50449t
TARHY— b BHAMEZ AW — & (MBS IE#1) 98,766 m?
S ERLZE T W R 39,063 kg
EES427) TKIBIRZ M U715 TRREBEIER (FKIG IR
SvEZ R 1,095 kg
QMAE%%% B 455 i R TR 1 S 152 1@
A A v e % 535 m?
g L 43 m?
e . oh. R 687 m
Tua—Jrr Ta—1 7 0 m?
IR—=T 4 VR — K 1 m?
BAERER—F WRAERR 434 m?2
AREHRE A MR 0 m?
v = LR B =L RK 1 m?
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G FEBH IR o 2 7 A 3 TH¥H
BIEE BIEE 3 &
WS 7K A% 3 A
22 A IKE B R R A 214 #
HAT LY v — MR 7 RZEK R 0o =&
B A Pk A A E (b e = V& 6,157 m
H #hkke 21 TEHE¥HK
A A H B EEEE L OVE ORI IA T )Ml 5 24 TEHEH
VISV e W iR 329 TH¥#
R PEH T A 5ok R Bk 3,821 H
JECER T T A B 3,362 A
%&Z%gﬁﬁwf%géﬁ%bt&ﬁﬁ 4873 m?
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